iﬁ‘*'ﬁ A AIVEEI RES] b IEEX S 309

e

#

ARAR LA (It 2 g Feds S gl B
Ferinl  (801-804 iﬁ LS F R 3
[ ot
DFi«g&/’ St
(D2 3 L p ) B3 7-3/9-1 L€ sraFin R T-1/8-1 s ir4r a8 2 7-4/8-3
(s 4345 8-2/9-4 W 22 37-2/8-4 (&~ R 9-2/9-3
‘ (D) peFaeie e d 3 2 A F4) 4~ Lpkgm
HA 1L (3)p 4iF A
| EREe S
o e B L R 2 #3303 44 ¢ W5 p 22006 #H47 £s 18 e[ 19 55 & (F 47 )
[]2hr8 3 A 8
T
A-J-Al:it o A8 s 3 F B RN F 208 ga o
f-J-A2:ic #ory (B g AR BB P 2 BB :sﬂmaa £33 I S
WAL 2 Hh - v b 5 ELE uﬁ?&‘1%~ &%mplﬁﬁfbﬂ Rt
i&é* f”’]‘ﬁ‘ff’ﬁ FF ’Eﬂﬂ “bm}‘i’¢,i—"%-_:§go
P-JASE R AP A ARER PR T RBpPHEEFE T REFZ L% 458
b3 4 et & BHRE - PHEEZ TH R RPFHELFE -

” éﬂ%hﬁbﬁﬁﬁ~ﬁﬁ@%\@%$31&§@5$1¢’ggg%ﬁgﬁné&
Bo ST CE B FAWE CRMAT S PR P HE AN WUE S L
ﬁf;ﬁﬁ\%ﬂﬁﬁ%\gﬁﬁm%$o
P-J-B2:ii TR EEVHERDPEARERFET R THEEY ER ~p V%2 L HEFF -
pARTEE ~ 32 }&ﬁx-&ﬂf%ﬁt‘ ’i;“,%#ﬁf‘aé GBS FEFNZFT GARRZEFTEMAF TE D
B EE G BT e R AR AT R o
LT R
LR BB R S R TR o 2. i e kR IE 5% 44 e ih
B® o 3 T REHFFORE 2 FFEL CEGnEL e 4 T BRSNS 12
RF@rsFdobiie b R EF pp e B LR pMER - 6. s PERRFR

REDH 2 A7 o T EpRERRE O LR g o 8 F Y F b F g
9, P PAIF B EFUERBAFEP F APt ESF o 10 FFHpRAEY > LA
IiE* B G o
40 (=) F
% F AR R R o VR Fl R R A fRiE S R
BHRER L2 FALP F S

iF 4 og o R : : P

- p AP $#n % (Subject/Topics) % ir

_ 9 16-9/17 (M A &R R VIEFIFERER
1-1 2/17(= )it 2/15(z ) ¥ 513k




2/19-2/23

9 EBAFY 4 2/21-22

= | 2/26-3/1 |1-3 2/28 il p
z | 3/4-3/8 [2-1
T 13/11-3/15|2-1
= 13/18-3/22 (2-3
= 13/25-3/29 B3 3-1 9 & o jei= R 3/28-29
~| 4/1-4/5 |B3 3-2 FSRA
1 | 4/8-4/12 B3 3-3
9B Y 4 4/16-17
-+ 14/15-4/19 B3 3-4 T8 & s pei=g 4/17-
18
E 4/22-4/26 |% 35 5 2 Figl & % i
-1 4/29-5/3 |4-1 4/29 % 4 BERE p
= | 5/6-5/10 |4-2
= |5/13-5/17 |5-1
v [5/20-5/25 [5-2 %ﬁggg')
7 |b5/27-5/311|5-3
= | 6/3-6/7 |54
6/10(~ )= i
= 16/10-6/14 |6-1 6/11(= )i 4 5/25
6/13(m )2 % 2 8 (% %)
A~ 16/17-6/2116-2
1 16/24-6/28 |6-3
| 7/1-7/5 |6-4 T+8 &5 3= 1/3

RET/5

SRS AN S




W= eg 0 60% (kA ask/ gy E)

1 %P
1 %0 e v O Py",, S 2
* ¥ 20 | #F L3 50%(R A T0% - £ B 15% > AR 15%)
* | SLE P 0 |[BEhF3irHI
* gy H 10 AR A WA S ]

1~ %8243 @%‘r»’? B ;ﬁ:ﬁﬁ% ...... (4 &)
o L3R 10 22 R FEAEE (3oi)
His

Wy =8 20%
W8 : 20%




